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5% - Révisions relatifs

Exercice 1
Calculer :

(+9)+(+5) = ...
(+12) + (+10)=
(+9)+(+9) = ...
(+15) + (+21)=
(+16) + (+17)=
(+4,8) + (+36) =
(+2,7) +(+3,8)=

(+4,2) + (+6,1) =
(+57)+ (+3.9) =
(+2,8) + (+2,8) =

Exercice 2

(-9)+(-5)=
(-12) + (-10)=
(-9) +(-9) =
(-15) + (-21) =
(-16) + (-17) =
(-4,8) + (-3,6) =
(-2,7) + (-3,8) =
(-42)+(-61)= ..
(-5,7) + (-3,9) =
(-28) +(-2,8)=

Compléter les pyramides additions suivantes :

3] 2| 5| +4|+9

+6 | -7 | +4 | -3 | +0

Exercice 3
Calculer :

(+9) + ... = (+5)
(+12) + .= (+10)
(+16) + . = (+17)
(+4,8) + .= (+3,6)
(+2,7)+ ... = (+398)

(+9) + (-5) =
(-12) + (+10)=
(-9) + (+9) =
(+15) + (-21) =
(-16) + (+17) =
(-4,8) + (+3,6) =
(+2,7) + (-3,8) =
(-4,2) + (+6,1) =
(+5,7) + (-3,9) =
(-2,8) + (+2,8) =

(-3)+(+12)= ...
(+6)+(+5)=
(+6) +(-8)= ..
(-6)+(-2)= ...
(+13)+(-3)= ...
(+8,2) + (-6,1) =
(-6,7) + (+3,8) =
(-5,6) + (-2,6) =
(+12,5) + (+6,2) = ..
(-15,5) + (+5,5) =

8 5 15 -36(-79(29|65|-88

-20 17

8
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2 15 7 -36(-88|39|55|-7.2
-9+ . =(-5) (+9) + = (-5) -+ (+12) =(-3)
(-12) + = (-10) (-12) + = (+10) + (+5) = (+6)
(-16) + = (-17) (-16) + = (+17) +(-3) = (+13)
(-48)+ .. =(36) | (48 + . =(+36) - *+(-6,1) = (+8,2)
(-2,7) + = (-3,8) (+2,7) + = (-3,8) +(+3,8) = (-6,7)
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5% - Révisions relatifs - Correction

Exercice 1
Calculer :

(+9) + (+5) = +14
(+12) + (+10)=+22
(+9) + (+9) = +18
(+15) + (+21) = +36
(+16) + (+17) = +33
(+4,8) + (+3,6) = +8,4
(+2,7) + (+3,8) = +6,5
(+4,2) + (+6,1) = +10,3
(+5,7) + (+3,9) = +9,6
(+2,8) + (+2,8) = +5,6

Exercice 2

(-9) + (-5) = -14
(-12) + (-10)= -22
(-9) + (-9) =-18

(-15) + (-21) = -36
(-16) + (-17) = -33
(-4,8) + (-3,6) = -8,4
(-2,7) + (-3,8) = -6,5
(-4,2) + (-6,1) = -10,3
(-5,7) + (-3,9) = -9,6
(-2,8) + (-2,8) = 5,6

Compléter les pyramides additions suivantes :

+3 -2 | -5

+9

+1 ] -7 |1

+13

+12

+6 | -7 | +4 | -3 | +0

Exercice 3
(+9) + (-4) = (+5)
(+12) + (-2) = (+10)
(+16) + (+1) = (+17)
(+4,8) + (-0,8) = (+3,6)
(+2,7) + (+1,1) = (+3,8)

(+9) +(-5) =+4
(-12) + (+10)=-2
(-9)+(+9) =0
(+15) + (-21) =-6
(-16) + (+17) = +1
(-4,8) + (+3,6) =-1,2
(+2,7)+(-3,8)=-1,1
(-4,2) + (+6,1) =+19
(+5,7) +(-3,9) = +1,8
(-2,8) +(+2,8) =0

(-3) + (+12) =+9
(+6) + (+5) = +11
(+6) + (-8) = -2
(-6) + (-2) = -8
(+13) + (-3) = +10
(+8,2) + (-6,1) = +2,1
(-6,7) + (+3,8) = -2,9
(-5,6) + (-2,6) = -8,2
(+12,5) + (+6,2) = 18,7
(-15,5) + (+5,5) = -10

-8 |-12| 5 | 12 | -15 -36(-79|129 |65 |-88
-20 | -7 -3 15| -5 | 94 |-2,3
27 | 10 | 14 165 44 | 7.1
-17 -1211115
7 -0,6
) -12,8 12,2
3 8 -6 173 45 | 7,7
10 | 7 7 -1241-491 94 | -1,7
2 -8 |15 |-14)| 7 -36(1-88|39 |55 |-72

(-9) + (+4) = (-5)
(-12) + (+2) = (-10)
(-16) + (-1) = (-17)

(-4,8) + (+0,8) = (-3,6)
(-2,7) + (-1,1) = (-3,8)

(+9) + (-14) = (-5)
(-12) + (+22) = (+10)
(-16) + (+33) = (+17)

(-4,8) + (+8,4) = (+3,6)
(+2,7) + (-6,5) = (-3,8)

(-15) + (+12) = (-3)
(+1) + (+5) = (+6)
(+16) + (-3) = (+13)
(+14,3) + (-6,1) = (+8,2)
(-10,5) + (+3,8) = (-6,7)




